Geometry Name:

First Semester Final Exam Review Packet Date: Period:

Answer each question as precisely and accurately as possible. When applicable, show all work.

E

For #1-7, use the diagram to the right.

1. Name a plane. What way of naming a plane isn’t an option in this diagram?

2. Name three segments in the plane that you named for #1.

B
3. How many planes are shown?
. A D

4. Are A, D, and C collinear? Why or why not?

5. AreA, E, B, Ccoplanar? Why or why not? If not, name 4 points that are coplanar.

6. Name three segments that intersect at B. 7. Name the intersection of EBC and AE.
For #8-11, use the diagram to the right.

8. Name the ray. G !

F
9. Name the line 2 different ways. What way of naming a line isn’t an
option for the line in this diagram?
H K I

10. Name the angle formed in the lower right corner in three ways.

11. Draw and label a diagram to show the following: ST lies in ABC

12. Can the same ray be called AE and BA? YES NO 13. Can the same ray be called ABand AC? YES NO
14. Can the same segment be called AB and BA? YES NO  15. Can the same line be called AB and BA? YES NO
16. Can the same line be called E and E? YES NO

For #17-21, use the diagram at the right. Classify as Yes or NO.

17. Are C, T, and B collinear? YES NO
18. Is E the same as ﬁ? YES NO
19. Is ﬁthe same as ﬁ ? YES NO
20. Are R, T, & C collinear? YES NO

21. Do fourrays startat T? YES NO




22. Reflect the preimage below over line nu 23. Rotate the preimage 80° counter-clockwise about P.
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24. Rg 270°cow (ABCD)
B
y
5t
A B
C

25. Write the following composition of transformations out in words: R g 27¢=ccw T<=—-3,1=(AABC).

26.T<5,0>°R0,270°CCW (BABC)

27. Given ADEF =AMNP. Complete the following statements circling the appropriate symbol as well
/ b)NP - O msM L Z d) FD

Ile
2 Il



28. Given: GE bisects £DGF and £DEF

Additional Reason(s):

D
/\ CONGRUENT NOT CONGRUENT
) \/ : shorteut: aneE =
F

29. Given: M is the midpoint of RT and ASRT is isosceles with base RT

S
CONGRUENT NOT CONGRUENT
Shortcut: AMRS =
Additional Reason(s):
R M T
30.
A B
CONGRUENT NOT CONGRUENT
Shortcut: AABD =
D C
Additional Reason(s):
31. Suppose that AXYZ = AVZY, §
a. mLV=__ d mLX¥YW=___ 10 . 9
xZ30° 50°
8 W
b. msV¥ZI= e. VZ=
c. VY=
32. CONGRUENT NOT CONGRUENT
K
Shortcut: AFGH =
F | | L
1 G 1
H

Additional Reason(s):




33. CONGRUENT NOT CONGRUENT
H f E
e Shortcut: AEGH =
//
= 4 F
Additional Reason(s):
34. Given: B is the midpoint of AD, £C & £E, #A~ +DBE
CONGRUENT NOT CONGRUENT
Shortcut: AABC =
Additional Reason(s):
35. Given: £MQN 2 £KRL #N = ¢L, KQ = MR
CONGRUENT NOT CONGRUENT
L N Shortcut: ARLR =
K 0 R
Additional Reason(s):
36. Given: AB = CE; BM bisects ZABC
Prove: AAME = ACME
Statements Reasons
1. AB=CE 1.
A
2. 2. Given
3. 3.
4, 4.
5. A =~ A 5.




37. Given: T is the midpoint of ER; ME~MR
Prove: AMTE = AMTR

Statements Reasons

38. Given GHOUL Z CANDY, fill in the statements below.

a) OH = b) ¥ = c) LU = £ d) £A = £
H Y D
G 0]
C N
39. Solve the following. L u A
ajmsL 1= byms 2=
c)msL3=
40. Solve the following.
a) b)
6y
Ox +12
3y+1 13y - 10
3x+11

41. Are the lines parallel? Show mathematical evidence to support your response.
x+15

4x

2x - 18



42.Given: CD || BE; £1 2 £3
Prove: BE bisects £ABD

Statements Reasons
43. Given: VRZA is a parallelogram y+12
A z
Find the perimeter.
2x-4
x+4
v 3y+5.. R
44. Given: VRZA is a parallelogram
Find VR. A X+9 7
X+5. 2x+1 ...
Vv R

45. Given: VRZAis a parallelogram: £V =x", 24 = (3x —4)°

Find: m£4 and m£2

(3x-4)° ...




46. a) Find the slope of the line through the points A( 3,6) and B (4, -7).

b) Find the slope of a line parallel to this line. c) Find the slope of a line perpendicular to this line.

d) Find the distance between these points. e) Find the midpoint of this segment.

47. Write the equation for a line parallel to 3x + 4y = 12 and goes through the point (-8, 1).

48. Write the equation of a line perpendicular to 3x +4y = 12 and goes through (-3, -2).

49. ABCD is a parallelogram. AC=8; DE=6 A B
21
a.miLl = c. m£ABC = E
5
1
b. AB = d. DB = D 9 c

50. ABCD is a parallelogram. AE =4x —3y; EC=13; DE=2x+y; BE=19
Find x and y.




51. 11x+3 56 Given the shape is a rhombus. Find the
value for x and y.

4y

52. Given the shape below is a rectangle, find the value for x.

6x-5) /f\ (2x+15)
X -




